7-9-07

| Using the Thin Lens Equation

Q) Why oves bringing an ch gk clats % p mgppic tg

R~ imege infrond (not on) redie
| ke (accaidiig b He Thon Lone pacto)

5— g _— + m——

= 'F SEEE e 'P, Ml ,z i L

— Congbunt For— deccpasing p  Therehore Yhis bgm
Y tging do —inergages —— musk decrease, €
 Besondbjut  unoveem g mustincriae

| How conrsehing lopseswork : They craels an imege afa




@ Comtoltny p Finsiphttelpsso

> W Casighttd) syt dlete - sufooctt osnd)

> Ned a WW ,Zhw//w;ﬂ%ch

callid e “ntar pomt " (iwettare ik 292)
> tse Hun bne Lguatin o hindl Srral Longth

> Neayol- Aolince o2 soflock agp. can frosio 1o

/VMM-', /00 ¢
WWM'—' 25¢m
 What w £2

Wank: am ottt ait Mt lbassed ntun psentt 2
(vuhtre Mt dssr L4t (o przeca)

\V/
- i
/r‘dur point otwuf
Near point

IE L
“-'—-——\——voo o, =g -Q-—-—-[




- ffff/me clilincs: Z = =/00cm  (Lovalio o

HW:ObWWIP 25cm (/a—m@m;{obtd’&é E

7 WMJO-F«W%)

| Fhat we wuf‘,&mlo -
prodece. <0 betcoune
s Audd b e pggtive

a ,

' Ve tlnm,,,,

 on hpdd Sl )

|
2 et -/aOc = 05( - 0/ 03 om”
e

tan Melers

NS ',7/?4?!' /Mf#(l" = S}Mﬂjf/‘ 7/ MRS R e




Q) Conscling Jor Neavsighlitnsea
> Nl shntnging lene % ntduee aspraction
Fotue w callid the “fuppent ”
7 bt Hon dine Lpuailive fo find forl Lyl
T

ﬁxW |
FM‘M= 5?6/:4 =
M&W'-‘OO (wauk Jo foews ow store )
What is £7

0byt ﬁﬁ% = o0 _
im%Zonw g=’5d¢:m (<0 Ateacs we

WM/‘MA’}/::A&/'/;
£t of lona )
= St e o e e
PR S~ Nler)
£=-50em (<O0=> M‘Vlrjiﬂj (concai&)/&w)
|
diggtep = L= — =2 -2¢




| Condition | Description | Type of lens \ Sign af focol
| do correct o coprock length & dArepter
| Myopia | Cannot focus facther | . o -
= g s than far peint ey
% e e e "Caﬂﬁot'""FGCUS'WWIVr' _Céf/VZi’ I/f T e 7_1/7 =
,,,,, | HYperopid. | +han near point 79 el >




